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1. () Most organizations need information systems to survive and prosper.
2. () Globalization and information technology bring no threat to domestic business firms.
3. () Information is data arranged in a coherent and useful format.
4.( ) The three activities of an information system are input, processing, and storage

5.( ) Formal information systems can be either computer-based or manual.
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1. () Which of the following represents a higher level of understanding, including rules, patterns and decisions? A). Data.
B). Information. C). Knowledge. D). Wisdom.

2. () Strategic decisions are: A). long-term decisions. B). unstructured. C). usually difficult and risky. D). all of the
above.

3. ( ) Computer use or can use which of the following processors? - A). one processor. B). several different chips that
make up one processor. C). multiple processors. VD). all of the above.

4.( )InaDFD, the diagram acts as a title page and displays the boundaries of the system and the external
entities that interact with the systems. A). content. B). context. C). general. D). data.

5. ( ) The data collection method that most customers are familiar with is: A). point of sale (POS) B). electronic data
interchange (EDI). C). optical character reader (OCR). D). none of the above.

6. () Missing data is represented by in relational database. A). statistically forecasting what the data should be
based on historical data. B). the BETWEEN statement. C). the NULL value. D). a predetermined default
value. '

7. () The major advantage of the broadcast method in computer telecommunications media is:  A). Security. B).
Portability. C). Simplicity. D). Popularity.

8. ( ) Groupware tools have been especially useful in automating the workflow in -based organizations. A).
Manufacturing. B). Service. C). Financial. D). Retail.

9. ( ) An enterprise information system is a business model used to provide useful data to the in the
organization. A).R/D team leader. B). office assistants. C). managers. D). executives.

10. ( ) Since a major focus of marketing is to improve service, information systems and DSS are useful for
identifying consumer demands and keeping track of customer attributes. A). knowledge intensive. B). business.
C). customer. D). supplier.
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1. What is the relationship between network revolution, electronic commerce and electronic business? (10%)

2. Describe the role played by programmers, system analysts, and chief information officer. (10%)





